NICL AO Mock Test 2025 — Practice Set 2
(30 Questions)

English Language

1. As there was only one taxi available (a)/ | had no other alternative (b)/ but to pay the fare (c)/
demanded by the driver. (d)/ No error (e)

A)a

B)b

C)c

D)d

E)e

2. Choose the correct word to fit in both sentences.

It is always the ordinary people who (1) victims of violence of the political parties.
People who conspire against others (2) into their own trap.

A) indicate

B) shun

C) fall

D) transform

E) suppressed

3. Their father has left (a)/ behind a huge sum (b)/ to be distributed (c)/ among the two brothers.
(d)/ No error (e)

A)a

B)b

C)c

D)d

E)e

4. He has been working in this office (a)/ since three years (b)/ but he has never taken (c)/ any
leave. (d)/ No error (e)

A) a

B)b

C)c

D)d

E)e

5. Neither of the two friends (a)/ have completed (b)/ their project on time (c)/ due to lack of
coordination. (d)/ No error (e)



A)a
B)b
C)c
D)d
E)e

6. Choose the correct synonym of the word: “Alleviate”
A) Increase

B) Relieve

C) Complicate

D) Delay

E) Avoid

7. Choose the correct antonym of the word: “Hostile”
A) Friendly

B) Angry

C) Aggressive

D) Harsh

E) Violent

8. Choose the correctly spelled word:
A) Mischivous

B) Mischievous

C) Misschevous

D) Mischevous

E) Mischivious

Quantitative Aptitude

9. 8999.99 + 892 x 59.99 = ?
A) 43250

B) 56890.67

C) 34210.65

D) 62520

E) 25630.78

10. Manish invested a sum of money at Cl. It amounted to Rs. 78652 in 2 years and Rs.
83371.12 in 3 years. Find the rate per cent per annum.

A)6

B)5

C)4

D)3

E)2



11. X % (Y+60)= given X-Y=40. Find X, Y.
A) 90, 50

B) 60, 20

C) 70, 30

D) 100, 60

E) 80, 40

12. What is the maximum number of 6-letter palindromes?
A) 16526

B) 17576
C) 18200
D) 14256
E) None of these

13. Calculate (216 x 96)(1/4)
A) 6

B) 2

C)4

D) 12

E) 20

14. A shopkeeper marked an article 40% above cost price and allowed a discount of 10%. Find
the profit percentage.

A) 20%
B) 25%
C) 26%
D) 30%
E) 28%

15. A train crosses a platform 200m long in 25 seconds at a speed of 72 km/h. Find the length
of the train.

A) 300m
B) 400m
C) 200m
D) 350m
E) 250m

16. A can finish a work in 12 days, B in 18 days. They work together for 4 days, then A leaves.
In how many days will B finish the rest?

A) 6 days
B) 7 days
C) 8 days
D) 9 days
E) 10 days



17. A sum of Rs. 5000 amounts to Rs. 6050 in 3 years at Sl. Find the rate of interest.
A) 6%

B) 7%
C) 8%
D) 9%
E) 10%

18. If the ratio of ages of A and B is 3:4 and sum of their ages is 56, find A's age.
A) 21

B) 24
C) 28
D) 32
E) 36

Reasoning Ability

19. If “BANK” is coded as “3-1-14-11,” then how will “LOAN” be coded?
A) 12-15-1-14

B) 14-1-12-15
C) 11-15-1-14
D) 15-12-1-14
E) None

20. Pointing to a man, Seema said, “He is the son of my grandfather’s only son.” How is Seema
related to that man?

A) Sister

B) Cousin
C) Aunt

D) Daughter
E) None

21. If in a certain code “MARKET” is written as “OCTMGV,” how is “PRISON” written?
A) SURMPQ

B) SURMQP
C) SURNQP
D) SURNMQ
E) None

22. Which is the odd one out?
A) Apple

B) Banana

C) Mango



D) Potato

E) Grapes

23. If '+’ means ‘x’, ‘x’ means ‘+’, ‘=" means ‘+’, and ‘+’ means ‘-, then find:
6x3+2+4-2=7

A) 22

B) 24

C) 26

D) 28

E) 30

24. Arrange in a meaningful order:

1. Seed
2. Tree
3. Flower
4. Fruit

5. Plant
A) 1-5-2-3-4
B) 1-2-5-3-4
C) 1-3-2-54
D) 1-5-3-2-4
E) 5-1-2-3-4

25. If some pens are books, all books are papers, then which of the following is true?
A) Some pens are papers

B) All papers are books

C) All pens are books

D) No pen is a paper

E) None

General Awareness

26. Who is the present Chairman of NICL (2025)?
A) Tapan Singhel

B) Neerja Kapur

C) Suchita Gupta



D) Debasish Panda
E) None

27. Headquarters of NICL is located in:
A) New Delhi

B) Mumbai

C) Kolkata

D) Hyderabad

E) Chennai

28. Who is known as the “Father of Insurance in India”?
A) Dorabiji Tata

B) C. D. Deshmukh

C) Bima Rao

D) Dinshaw Maneckji Petit

E) None

29. NICL works under which Ministry?
A) Ministry of Commerce

B) Ministry of Corporate Affairs

C) Ministry of Finance

D) Ministry of Home Affairs

E) None

30. In which year was NICL nationalized?
A) 1971
B) 1972
C) 1973
D) 1974
E) 1975
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